Equal 9 step grey scaling betweeb* gn=22.3 andL*y5»=95.9, Yoret=1.8, normalisation greyU

L*0anF22.3,L%0a=59.1,L* 0aw=96.0, Yoan=3-6, Yoa e 27 -2, Yoaw=90.0, Coay=Yoaw: Yoan=25.0
L*taN=26.9,L*tau=59.1,L*taw=94.3, Yian=5.1, Ytau=27.2, iaw=86. 1, Gay=Ytaw: Ytan=17.0
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]¥/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g%= 99 g%= 86, g*y= 82 g%= 98, g%5= 98
L*cieLas  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) 1106 *a AlL*la
1007 (e 90 120 9.0 10 . o3 o 10 81 10 93
8 868 0875 69.6 0763 855 0.868 66.9  0.876 86.0
45 (07 778 075 525 0.56;6 76.6 8:8 0.737 509  0.751 77.6 :::
6 684 0625 385 0403 67.8 0.607 378  0.625 69.1
@5 91 05 272 0.2713 59.1 Z:; 0478 272 05 60.6 Z:Z
50+ @4 499 0375 184 0171 506 0351 189  0.374 52.1

' 8.3 8.4
.3 40.7 025 11.7 0.094 422 0.227 12.6 0.249 43.7
: 8.0

: : 8.4
.2 315 0125 69 0038 343 0.109 8.1 0.124 35.3
25—+ ; 7.3 8.4
@: 223 00 36 00: 269 00 51 0.0 26.9

0+ : )
AL*=9.2 (i=1,2,...8) i normalisation: YtaiU:YOaUM
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